I 1. ROEALTTRENZ R E 72 X0,

3x+2y="7
(2)
r+ 5y =11
3r —y=—2
(3) (4)
Tr — 3y = —8
or — 2y = —15
(6)
—xr+ 3y =16
3r +y = —6
(8)
8r—3y=1

fEIRE 2. RO R E 72 30,

2z + 3y =18
3z + 5y = 29



W 1. ROBN TR R E LI,

6 + oy =1
(1)

r—3y=4

dr —y = —7
(3)

6x — Ty = —5

6x + 5y = —13
(5)

—x+ 7y =10

9 +y =95
(7)

br — 4y =21

W 2. ROBATERZEE LI,

Sr + Ty =8
20 + 9y = —
8r —3y =1
Tr—2y=4
2+ Ty =5
3x — by = —8
9z — 2y =13
Tr+3y =1

R

r—Ty=—-4
S —8y =7

3r+4y =13
8r+y=—4

—— —— S

—x+2y=4
3x— oy =-9
Tr + by = —12
3r —y= -2
3z + 2y = -2
Tr + 3y =2
3r—10y =4
dr — 9y =1
ox + 4y = 22
8r —3y =7
T — 6y = —2
20 + Ty = —18






